Collectorate, Kancheepuram. Dated: 13.03.2023

Minutes of the Managing Committee of the Kancheepuram District Mineral Foundation Trust Meeting held on 13.03.2023 at 6.00 P.M under the Chairmanship of the District Collector, Kancheepuram.

The 11th Managing Committee Meeting of the Kancheepuram District Mineral Foundation Trust (DMFT) was held on 13.03.2023 at 06.00 P.M in the DRDA Conference Hall at Collectorate, Kancheepuram under the Chairperson of the District Collector, Kancheepuram.

The list of participants in the meeting is appended at Annexure - I.

The Scope of PMKKKY cover the activities listed below were discussed with the committee members.

I. High priority areas – at least 60% of PMKKKY funds to be utilized under these heads:-

(i) Welfare of mine affected People

a. Drinking water supply:-

- i) Centralized purification systems.
- ii) Water treatment plants.
- iii) Permanent/temporary water distribution network including standalone facilities for drinking water.
- iv) Laying of piped water supply system.

b. Environment Preservation and Pollution Control Measures:-

- i) Effluent treatment plants,
- ii) Prevention of pollution of streams, lakes, ponds, ground water, other water sources in the region
- iii) Measure for controlling air and dust pollution caused by mining operations and dumps
- iv) Mine drainage system
- v) Mine pollution prevention technologies, and measures for working or abandone'd mines and other air
- vii) Water & surface pollution control mechanisms required for environment-friendly and sustainable mine development.

C. Health care:-

- i) The focus must be on creation of primary / secondary health care facilities in the affected areas
- ii) The emphasis should not be only on the creation of the health care infrastructure, but also on provision of necessary staffing.
- iii) Equipment and supplies required for making such facilities effective.
- iv) To that extent, the effort should be to supplement and work in convergence with the existing health care infrastructure of the local bodies, state and Central government
- v) The expertise available with the National Institute of Miners' Health may also be drawn upon to design special infrastructure needed to take care of mining related illnesses and diseases.
- vii) Group Insurance Scheme for health care may be implemented for mining affected persons

D. Education:-

- i) Construction of school buildings
- ii) Additional class rooms, Laboratories, Libraries, Art and crafts room, Toilet blocks.
- iii) Drinking water provisions Residential Hostels for students/teachers in remote areas
- iv) Sports infrastructure, engagement of teachers/other supporting staff.
- v) E-learning setup, other arrangement of transport facilities (bus/van/cycles/rickshaws/etc.) and nutrition related programs

E. Welfare of Women and Children:-

i) Special programmes for addressing problems of maternal and child health, malnutrition, infectious diseases, etc Can be taken up under the PMKKKY

F. Welfare of aged and disabled people:-

i) Special program for welfare of aged and disabled people

G. Skill development:-

i) Skill development for livelihood support

- ii) Income generation and economic activities for local eligible persons
- iii) The projects / schemes may include training, development of skill development center, self employment schemes
- iv) Support to Self Help Groups and provision of forward and backward linkages for such self-employment economic activities

H. Sanitation

- i) Collection, transportation & disposal of waste, cleaning of public places.
- ii) Provision of proper drainage & Sewage Treatment Plant.
- iii) Provision for disposal of fecal sludge
- iv) Provision of toilets and other related activities.

(ii) Welfare of mine affected area

(a) Physical infrastructure:

- (i) for providing required physical infrastructure viz. road, bridges, railways and waterways projects; maintenance.
- damage repair of the existing physical infrastructure viz. road, bridges, railways and waterways under the control of the Local Bodies, State and Central Government caused by mining or quarrying activities in the nearby area;
- II. Not more than forty per cent of the Trust Fund may be utilized for other priority areas under the following heads and such other heads as may be decided by the Government:-

(a) Irrigation developing:

- (i) Alternate sources of irrigation,
- (ii) Adoption of suitable and advanced irrigation techniques;

(b) Energy and Watershed Development:

- (i) Alternate source of energy (including micro hydel) and rainwater harvesting system,
- (ii) Development of orchards, integrated farming and economic forestry and restoration of catchments;

At the outset, the District Collector welcome all the participants present in the meeting. Thereafter, the District Collector reviewed overall financial position for the implementation of PMKKKY project.

The District Collector has informed the purpose of the meeting is to review the progress of actions taken by executing agencies and District Level Officers on various matters and activities as decided by the Governing Council Committee in its last meeting held on 10.12.2020. Also he opined that important projects will be sanctioned on priority basis to start the works in the fields.

The Managing Committee accords approval to the below mentioned agenda items:

The list of 91 Directly & Indirectly Mine affected villages as of august 2018 has already been uploaded in the PMKKKY portal. The list of newly added Direct & Indirect mine affected a total of 135 villages as listed to be considered for future development works.

After detailed discussion, the following important decisions were taken unanimously in the meeting.

An amount of Rs. 1,58,00,000/- has sanctioned for Construction of Bed dam across the Adyar River at Thiruneermalai and formation and relaying of Approach Service Road leading to Thiruneermalai at Tambaram and Pallavaram Taluk of Kancheepuram District. The implementing agency Executive Engineer, Water Resource Department, Lower Palar Basin Division, Kancheepuram is directed to complete the work early.

1) The below mentioned project have been received from the DRDA, Kancheepuram for implementation:

S. Taluk No.		Village	Description of project.	Implementin g Department	Estimation cost (Rs)
1	Kancheepuram Kundukulam Construction of 30000 Lit. OHT Borewell and Pumpset, pumbing mainline, Distribution line and FHTC to new Irular Kudiyiruppu at Kundukulam in vippedu Panchayat		Block Development Officer, Kancheepura m	34,58,000	
2	Uthiramerur	Malayankulam	Construction of 60000 lit Capacity OHT Tank, Pump Room, Providing Pumping Main line, Distribution line and Allied Works to Malayanulam ST Houses in Malaynakulam Panchayat	Block Development Officer, Uthiramerur	47,50,000
3	Uthiramerur	Malayankulam	Construction of Anganwadi Building to Malayankulam ST Colony Houses in Malayankulam Panchayat	Block Development Officer, Uthiramerur	13,37,000
4	Walajabad	Uthukadu	Providing Street light for Uthukaudu ST house at Uthukadu Panchayat in Walajabad Panchayat Union	Block Development Officer, Walajabad	8,08,000
5	Walajabad	Uthukadu	Construction of 30000 lit OHT and other water supply works for Uthukadu Panchayat in Walajabad Panchayat Union	Block Development Officer, Walajabad	20,62,000
6	Walajabad	Uthukadu	Construction of Anganwadi Building at Uthukadu Panchayat	Block Development Officer, Walajabad	13,57,000
7 ,	Walajabad	Singadivakkam	Providing Street light for Singadivakkam ST house at Singadivakkam Panchayat in Walajabad Panchayat Union	Block Development Officer, Walajabad	7,19,000
8	Walajabad	Singadivakkam	Construction of 30000 lit OHT and other water supply works for Singadivakkam ST House at Singadivakkam Panchayat in Walajabad Panchayat Union	Block Development Officer, Walajabad	20,94,000
9	Walajabad	Singadivakkam	Construction of Anganwadi Building at Singadivakkam Panchayat	Block Development Officer, Walajabad	13,57,000

				TOTAL	2,57,63,000
14	Sriperumbudur	Katrambakkam	Construction of Anganwadi Building to ST House Area in Katrambakkam Panchayat at Sriperumbudur Panchayat Union	Block Development Officer, Sriperumbdur	13,57,000
13	Sriperumbudur	Katrambakkam	Providing Water Supply works for Katrambakkam ST Houses in Katrambakkam Panchayat at Sriperumbudur	Block Development Officer, Sriperumbdur	1,83,000
12	Sriperumbudur	Katrambakkam	Construction of 30000 lit OHT in ST House Area in Katrambakkam Panchayat at Sriperumbudur Panchayat Union	Block Development Officer, Sriperumbdur	16,90,000
11	Sriperumbudur	Katrambakkam	Providing B.T.road to Irular Area in Katrambakkam Panchayat at Sriperumbudur Panchayat Union	Block Development Officer, Sriperumbdur	42,81,000
10	Sriperumbudur	Katrambakkam	Providing Borewell and Pumping Main Line to ST Houses Area in Katrambakkm Panchayat at Sriperumbudur Panchayat Uniona	Block Development Officer, Sriperumbdur	3,10,000

2. The below mentioned project have been received from the Divisional Engineer (H), Construction and Maintenance, Kancheepuram for implementation:

S. No.	Taluk	Village	Description of project.	Implementing Department	Estimation cost (Rs)
1	Kancheepuram	Kuruvimalai	Improvements to abandoned Stretch of SH 118 A at Km 21/300 – 21/750 near Kuruvimalai (Bridge approach road portion)	Divisional Engineer (H), Construction and Maintenance, Kancheepuram	26,00,000

3. The below mentioned project have been received from the Deputy Director, Health & Family Welfare Department, Kancheepuram was requested that mining work-related villages are affected so the medical camp for affected people's health checkups. The below mentioned equipments are requested.

Instruments	Quantity	Rate per unit	Total amount
Haemologlobinometer	169 Nos	13,500	22,81,500
Semiautoanalyser	10 Nos	1,35,000	13,50,000
Reagent (Drapkin	50 lit	360	18,000
Solution)		,	* · · · · · · · · · · · · · · · · · · ·
Pipette 1000 ml	10 Nos	3,000	30,000
Pipette 10 ml	10 Nos	2,500	25,000
Slide	500 Nos	70	35,000
White Tiles	10 Nos	50	500
Cotton roll	50 Nos	50	2,500
Spirit	50 Nos	60	3,000
IEC Materials	10000 Nos	100	1,00,000
Haemoglobin strips	25000 Nos	18	4,50,000
	•	TOTAL	42,95,500

Primary Health Centres Affected

- 1. Elichur
- Maduramangalam
 Manampathy
 Ayyampettai
 Somangalam

CI		_	Estimate Amount		
SI. No.	Need	Quantity	Per Unit	Total (Including GST)	Justification
1	Mobile Lab Units with Public Addressal System (PAS)	3	28,00,000	90,00,000	Mobile Lab Units will aid in early diagnosis of communicable and Non Communicable disease at the door step of the beneficiaries, thereby decreasing the out of pocket expenditure of the people
2	Mobile eye testing unit with Auto Refractometer	2	5,80,000	13,68,800	Help in early identification of vision problems and preventive of complication at the community set up

3	LCD Projectors with screen	5	1,85,000	10,91,500	Display of information of Health become more easy of LCD Projectors. To create awareness on Health Promotion and Disease Prevention
4	Physiotherapy kits USG, TENS, WAX Therapy set	5	79,800	4,46,880	Rehabilitative Services of the bedridden and chronically ill patient will be made possible with the availability of Physiotherapy kit
5	Semi Auto Analyser	5	1,35,000	6,85,000	For measuring various blood parameters
6	Spriometer	5	65,000	3,25,000	To access lung function test for occupational diseases
7	Thermal fogging machine	5	60,000	3,00,00	To Control Dengue and Mosquito borne diseases
	Tot	al		1,32,17,180	

Most Affected HSCS

- 1. Dhargast (2 Villages)
- 2. Manimangalam (2)
- 3. Pennalore (2)
- 4. Vadakkupattu (2)
- 5. Arunkundram(3)
- 6. Anambakkam (4)
- 7. Kunnavakkam (Uthiramerur) (2)
- 8. Palayaseevaram (2)
- 9. Arpakkam (2)
- 10. Uthukadu (2)
- 11. Kunnavakkam (Walajabad) (2)
- 12. Nathanallur (2)

			Estimate Amount		
SI. No.	Need	Quantity	Per Unit	Total (Including	Justification
		4	=.	GST)	-
1	Refrigerators	12	24,500	3,46,920	To store the essential vaccines like ARV,
					TD Vaccines

2	RO Water facility	12	49,800	7,05,168	Provision of safe drinking water for the beneficiaries who are availing services from the Health Sub Centre
3	Invertor	12	46,800	6,62,688	Provision of uninterrupted power supply which will help to serve the community
4	Waiting Chairs	50	18,500	10,91,500	Will help to increase the comfort of the beneficiaries during immunization session and clinics
- I 4 II 4	Tot	al		28,06,276	

GH Requirement

SI. No.	Name of the Institution	Need	Qty	Estimate Amount	Justification
1	Government	Ortho OT Table	1.	2,00,000	one orthopedician is
	Hospital,	Drill	1	1,25,000	available. Hence, this
	Uthiramerur	Ortho Instruments	1 set	2,00,000	Items are Improving Ortho Department.
		C-Arm	-1	5,00,000	Who affected Road Accident.
		Operating	1	2,00,000	Endoscopy is use to
ni (j. j.		Camera With Endoscopy			diagnose ENT diseases. Mainly occupational
l-s		RO Plant	1	1,50,000	disease
2	Government Hospital,	Spirometry	S 1	65,000	This is help diagnose and monitor certain
* - 1 t	Sriperumbudur		40 H 		lung conditions. Mainly occupational elderly.
3	Government	Spirometry	_ 1	65,000	This is help diagnose
	Hospital,			1	and monitor certain
	Walajabad				lung conditions.
-	Ţ	otal		15,05,000	

Mine Affected villages List in respect of Kancheepuram District

List of Directly Mine affected villages :

S. No	Taluk	Name of the Block	Name of the PHC	Name of the HSC	Building Status	Land Available	Cost
1	Sriperumbudur	Kundrathur	Somangalam	Dhargast	condemned	Land Available	30 Lakhs
2	Sriperumbudur	Kundrathur	Somangalam	Dhargast	condemned	Land Available	
3	Sriperumbudur	Sriperumbudur	Molachur	Thandalam	condemned	Land Available	30 Lakhs
4	Sriperumbudur	Kundrathur	Padappai	Neelamangalam	condemned	Land Available	30 Lakhs
5	Sriperumbudur	Kundrathur	Elichur	Vadakkupattu	condemned	Land Available	30 Lakhs
6	Kundrathur	Kundrathur	Elichur	Vadakkupattu	condemned	Land Available	
7	Uthiramerur	Uthiramerur	Padur	Anambakkam	condemned	Land Available	30 Lakhs
8	Uthiramerur	Uthiramerur	Gurumancery	Arumpuliyur	condemned	Land Available	30 Lakhs
9	Uthiramerur	Uthiramerur	Padur	Anambakkam	condemned	Land Available	
10	Uthiramerur	Uthiramerur	Padur	Anambakkam	condemned	Land Available	
11.	Uthiramerur	Uthiramerur	Padur	Anambakkam	condemned	Land Available	
12	Uthiramerur	Uthiramerur	Manampathy	Manampathy	condemned	Land Available	30 Lakhs
13	Uthiramerur	Uthiramerur	Manampathy	Manampathy Kandikai	condemned	Land Available	30 Lakhs
14	Uthiramerur	Uthiramerur	Padur	Neiyadupakkam	condemned	Land Available	30 Lakhs
15	Uthiramerur	Uthiramerur	Gurumanchery	Kavithandalam	condemned	Land Available	30 Lakhs
16	Walajabad	Walajabad	Ayyampettai	Uthukadu	condemned	Land Available	30 Lakhs
17	Walajabad	Walajabad	Ayyampettai	Uthukadu	condemned	Land Available	
18	Walajabad	Walajabad	Ayyampettai	Nathanallur	condemned	Land Available	30 Lakhs
19	Walajabad	Walajabad	Ayyampettai	Walajabad	condemned	Land Available	30 Lakhs
20	Walajabad	Walajabad	Ayyampettai	Nathanallu	condemned	Land Available	
140		Br V 1	Total		re a pentara	1-1	390 Lakhs

	List of InDirectly Mine affected villages :										
S. No	Taluk	Name of the Block	Name of the PHC	Name of the HSC	Building Status	Land Available	Cost				
1	Sriperumbudur	Kundrathur	Padappai	Neelamangalam	condemned	Land Available					
2	Uthiramerur	Uthiramerur	Gugumanchery	arumbuliur	condemned	Land Available					
3	Uthiramerur	Uthiramerur	Padur	Anambakkam	condemned	Land Available					
4	Uthiramerur	Uthiramerur	Padur	Malaiyangulam	condemned	Land Available	30 Lakhs				
5	Uthiramerur	Uthiramerur	Gugumanchery	Arumbuliur	condemned	Land Available					
6	Uthiramerur	Uthiramerur	Gugumanchery	Arumbuliur	condemned	Land Available					
7	Uthiramerur	Uthiramerur	Salavakkam	Edayampudur	condemned	Land Available	30 Lakhs				
8	Uthiramerur	Uthiramerur	Padur	Anambakkam	condemned	Land Available	s '				
9	Uthiramerur	Uthiramerur	Padur	Neiyadupakkam	condemned	Land Available					
10	Uthiramerur	Uthiramerur	Salavakkam	Edayampudhur	condemned	Land Available	5				
1.1	Walajabad	Walajabad	Ayyampettai	Uthukadu	condemned	Land Available					
12	Walajabad	Kancheepuram	Avalur	Kammarajapuram	condemned	Land Available	30 Lakhs				
		234		o e je koje i t	Total	al	90 Lakhs				

4) The below mentioned project have been received from the DRDA, Kancheepuram for implementation:

<u> Table - 1</u>

S. No.	Taluk	Village	Scheme details	Approximate Value (in Lakhs)
1_	Kancheepuram	Thamal	Anganwadi Building	13.57
2	Kancheepuram	Sitherimedu	Anganwadi Building	13.57
3	Walajabad	Muthiyalpettai	Anganwadi Building	13.57
4	Walajabad	Pazhayaseevaram	Anganwadi Building	13.57
5	Walajabad	Uthukadu	Anganwadi Building	13.57

6	Uthiramerur	Thiruvanaikoil	Anganwadi Building	13.57
7	Uthiramerur	Arumpuliyur	Anganwadi Building	13.57
8	Uthiramerur	Perunagar	Anganwadi Building	13.57
9	Kundrathur	Kaladipettai	Anganwadi Building	13.57
10	Kundrathur	Nallur	Anganwadi Building	13.57
11	Sriperumbudur	Akkamapuram	Anganwadi Building	13.57
12	Sriperumbudur	Pichivakkam	Anganwadi Building	13.57
		Total		162.84

<u>Table - 2</u>

S. No.	Taluk	Village	Scheme details	Approximate Value (in Lakhs)
1	Walajabad	Thimmayanpettai	Anganwadi Building	5.78
2	Walajabad	Thimmayanpettai	Anganwadi Building	2.24
	all and bear	Total	lanca Berballeri er i	8.02

5. The below mentioned project have been received from the DADW, Kancheepuram for implementation:

S. No.	Name of the Work	Estimate (Rupees)	
1	Construction of New Toilet Block to Govt. ADW Higher Secondary School At Melottivakkam Village in Kancheepuram Taluk & District	12,35,000	
	Total	12,35,000	

<u>6. The below mentioned project have been received from the CEO, Kancheepuram for implementation:</u>

Smart Class Equipment required below mentioned Schools.

S. No.	Union	School Name	Estimate (Rupees)
1	Kancheepuram	Union Middle School, Kizhambi	2,00,000
2		Union Middle School, Melottivakkam	2,00,000
3	Walajabad	Union Middle School, Kunnavakkam	2,00,000
4		Union Middle School, Pazhayaseevaram	2,00,000
5		Govt. High School, Devariyambakkam	2,00,000
6		Govt. Higher Secondary School, Avalur	2,00,000
7		Govt. Higher Seconday School, Thenneri	2,00,000
8	Uthiramerur	Union Middle School, Magaral	2,00,000
9	F14.	Union Middle School, Pinayur	2,00,000
10		Union Middle School, Vayalakkavur	2,00,000
11		Govt. High School, Thirumukkudal	2,00,000
12	11 4	Govt. High School, Aanambakkam	2,00,000
13	Sriperumbudur	Union Middle School, Sriperumbudur (South)	2,00,000
14		Union Middle School, Vadamangalam	2,00,000
15		Union Middle School, Irungattukottai	2,00,000
16	Kundrathur	Govt. High School, Vadakkupattu	2,00,000
17		Govt. Sample Secondary School, Somangalam	2,00,000
		Total	34,00,000

7. The below mentioned project have been received from the Police Department, Kancheepuram District for implementation:

The Approximate cost of the following Road Safety equipments is furnished as follows:

S. No.	Name of the Equipment	Approximate Rate per Unit in Rs. (*)	Qty	Total Cost in Rs.
1.	Iron Barricades	15,000	100	15,00,000
2.	CCTV Camera with Accessories (5 Mega Pixel)	20,000	74	14,80,000
3.	Caution Boards	4,000	32	1,28,000
4.	Blinkers Lights with Pole, Convex mirror and Reflective Stickers	25,000	40	10,00,000
5.	Solar Cats Eye	2,000	800	16,00,000
6.	Solar Delineator with 1 meter pole	1,500	28	42,000
7.	ANPR Camera	1,25,000	10	12,50,000
8.	Plastic Rumble Strips	1,000	500 Mtrs	5,00,000
		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Total	75,00,000

8. The below mentioned project have been received from the DDRO, Kancheepuram District for implementation:

S. No	Product name	Price	Qty	Amount
1	Double Swing	29,600	1	29,600
2	6 Feet slide LLDPE	58,300	1	58,300
3	Revolving Globe	1,01,750	1	1,01,750
4	Rope Tent Climber	22,800	1	22,800
5	Zig-Zag Balance Beam	23,100	1	23,100
6	Elephant Spring Rider	21,300	1	21,300
7	Bike spring Rider	25,000	1	25,000
8	Shoulder Wheel Double	45,300	1	45,300
9	Ab-Trainer Single	38,800	1	38,800
10	Integrated Fitness	65,500	-1	65,500
Total				4,31,450
		- 12	GST 18%	77,661
	Grant Total			

9. The below mentioned project have been received from the DRDA, Kancheepuram District for implementation:

S. No.	Taluk	Village	Name of the Work	Estimate (Rs. in Lakhs)
	Uthiramerur	Arumbuliyur	Karumbakkam Colony Pond	35.00
			development and renovation under	
			the scheme of Amrit Sarovar	
2	Uthiramèrur	Vadathavoor	Kannikulam Pond	32.00
		A ST CALL OF THE	development and renovation under the scheme of Amrit	
4.1		· · · · · · · · · · · · · · · · · · ·	Sarovar	
3	Walajabad	Vaiyavur	Arichandran Pond development and renovation under the scheme of Amrit Sarovar	35.00
4	Walajabad	Devariyambakkam	Vinayagar Pond development and renovation under	30.00
			the scheme of Amrit Sarovar	
			Total	132.00

The above mentioned projects have been received from the various departments for implementation. Considering the present fund status and prioritising the projects, the proposals submitted to be taken up in the next meeting.

The meeting ended with a vote of thanks to the Chair.

District Collector, Kancheepuram.

Assistant Director(i/c), Geology and Mining, Kancheepuram.

Deputy Director, Health & Family Welfare Department, Kancheepuram.

District Treasury Officer, Kancheepuram.

Assistant Director Village
Panchayat, Rural
Development and
Panchayat Raj Department,
Kancheepuram.

Thiru. Meganathan, Environmental Activist. District Revenue Officer Kancheepuram.

Project Director,

District Rural Development
Agency (DRDA), Kancheepuram.

Chief Education Officer, Kancheepuram.

District Social Welfare Officer, Social Welfare and Women Empowerment Department, Kancheepuram.

Hand in Hand, Non- Governmental Organization Member

